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Al oA A = 2x% - xy? +3%, B = =2xy° +2)°.C = * +y* |
diste] (24 - B) + C & Altsta?

@D 2x3 — 4x%y + 3y? @ —x3 +2x%y -3
@ 2x3 + 4x%y — y? @x3 +4x%y 43
® x3+ 43

(2A-B)+C
= 4x%y — 2xy? + 2y% — (—2xy% + 2y%) + 13 + )3

(24— B) + C
= x5+ 4x?y +y3
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2A - 3B
=2(5x3 + x2 —6x+7) - 3(2x3 —4x2 - 1)
= 4x% + 14x% - 12x + 17
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24 — 3B=2(x?) — 3(—4x?) = 2x% + 12x% = 14x2
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(4xt =5x3 4+ 3x2 —dx+ 1)+ (x> —x+ 1)

@ 4x2-3x+2 @4x2—x—2 ® 4x2-2x+1

@ —4x?—x-2 ® —4x®+x-2

Lo Ax? —x—2, UHA] C —5x+3




7. (x-2y-37)%2 AAste] xofl i WA o8 Helsha?

@ x? + 4y? 4+ 922 — 4xy + 12yz — 62x

@ x? —4xy +4y® — 972 + 12y7 — 62x
@x2 — (4y + 62)x + 4y? + 12yz + 97>

@ 4y* +12yz + 922 + (—4y — 6z)x + x2

® 922 +4y? + 12

(x =2y —3z2)? = x? — (4y + 62)x + 4y* + 12yz + 92°
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8. (a-b-c)?E A A7

@® a? + b? + % + 2ab + 2bc + 2ca
@ a?® + b? + % — 2ab — 2bc — 2ca
® a? - b* - c? - 2ab - 2bc - 2ca

@a2+b2+02—2ab+2bc—2ca

® a? - b? -2 + 2ab — 2bc — 2ca

(a=b-c)?
= a® + (=b)? + (=¢)? + 2a(=b) + 2(=b)(~c) + 2(-c)a
= a® + b? + ¢ — 2ab + 2bc — 2ca




9. THHA (a—b)(a? +ab+ b?) < AAHE?

® a®-b? (@)a3—b3
® a4 b? @ a® + 3ad%b + 3ab® + b3

® a® - 3a®b + 3ab® - b®

A 1 (a-b)(a® +ab+b?) =a-b3




10. (a-b+c)(la-b-c)E H/NSHH?

® -a®>+b>-c®+2ca @ a®-b%>+c%+2ab
@ a4 b% + 2 + abe @ a?-b%-c24 2

@a2 +b%—-c%-2ab
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(a=b+c)(a-b-c)
={(a=b)+c}{(a—b)—c}
=(a-b)?-c?

:a2+b2—C2—Qab
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1999 x 2001 o] 3t ote] & uff, 714 4

@® m(a+ b) = ma+ mb

@ (a+b)? =a®+ 2ab+ b?
@)(a-b)a+b)=a?-p?

@ (x+a)(x+b)=x*+(a+b)x+ab

® a?+b? = (a+b)? - 2ab
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1999 x 2001 = (2000 — 1) x (2000 + 1)
= 20002 — 12




12, (x3-3x243x+4)(x*4+2x-5) & AN Ao A x? O] AGE FopA?

® 10 @ 15 ® 19 @ 21 @25

S5 1
AN A x2 32
i) (o1 x (AFAF) ol A 15x2 + 4x2 = 1952
i) (EAFH)x(LAFE) oA 6x2
L2 AFE19+6=25
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® 10 @ 13 ® 16 @)19

® 25
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(5x% + 3x 4 1)(5x2 + 3x + 1) | A

1) (A% (L2 9] 3¢ 9x2

i) (1) x () o % 2 x 5x?
=, 5x2 + 5x% 4 9x% = 19x?
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15, x+y+z=3, xy+yz+ax=-1<L x> +y>+2* 9 g2 F5HH?

@ @ 12 ® 13 @14 O

4y +22 = (x+y+2)7?%-2(xy+ yz+ x2)
=94+2=11




